IDS-Drive

labapuTHble pasmepbl peaykTopa TRCO22
TRCO22H..(IEC)

50 205
N
40 b M
3.5 -
] [i
H— :E
i _j:I=
s T 11 b
Vi W
\Y;
u X
TRCO22F..(IEC)
A B
50 ———j@
1 N L
| X I
i 1
TRC022U...(IEC)
D 1| — [
7 : |
13 ]

TRCO22U..(HS)

Macca pedykmopa = 5.9ke

Kamanoz npooykyuu

127

100

Macca pedykmopa = 6.1K2

I
1L

|

$19 j6

40

32

|

IDS-Drive

YecmarHobo4Hble nane

T™n

U

\

V1

V2

V3

X | X1 Z

BO1

90

18

87

50

110

118

130

MO1

80

18

80

110

120

118

145

M02

80

25

85

110

120

oo |

112

145

B02

100

18

107.,5

60

130

111136

155

Macca pedykmopa = 6.2k2

BbixodHoU dpnaHed,

Ta| F

K

K1

A

B

F140

140

95

115

3

9

F160

160

110

130

35

10

D |[\D|M

F200

200

130

165

35

11

1

Macca pedykmopa = 6.2Kk2

bom

tm

S

BxodHoU ¢pnaxeu.

PAM

N

M

P

bm| tm

63B5

95

115

140

41128

71B5

110

130

160

T1B14

70

85

105

5116,3

80B5

130

165

200

80B14

80

100

120

6 (21,8

90B5

130

165

200

90B14

95

115

140

8 (273




